4. How many of the following statements are true concerning the graph of f(z) given below
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3. The elevation h (in feet above the ground) of a stone dropped from a height of 500 ft is modeled
by the equation h(t) = 500 — 162, where ¢ is measured in seconds and air resistance is neglected. Use
differentials to approximate the change in elevation over the interval 3 < ¢ < 3.1 seconds.
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6. If f(z) = —z% + 4z + 3 — 2¢%, then how many of the following are true: POSSIRCE
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(@{) The function has two inflection points

(z%‘he function is concave downward at z = In 2
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